Equilibrium Homework #4

Define and give an example of Bronsted-Lowry acid and base.
What do we have to look at to determine if a species is a BL acid/base?

Identify the conjugate acid base pairs in the following reaction:

1. HF(aq) + H2O(l)   ↔ F- (aq)+ H3O+(aq)
2. CH3NH2(aq)  + H2O(l)  ↔ CH3NH3+(aq)  + OH-(aq)
3. HCO3-(aq)  +  H2PO4-(aq)  ↔ CO32-(aq)  + H3PO4(aq)
4. HSO3-(aq)  + H2PO4-(aq)  ↔ H2SO3(aq)  +  HPO42-(aq)
Write the equilibrium expression for reactions 1-4
What do you notice about the role of water in reactions 1 and 2 and dihydrogen phosphate in reactions 3 and 4?  What is this called?

Given the BL base, write the conjugate BL acid:

HCO3-
NH3
H2PO3-
Given the BL acid, write the conjugate BL base:
NH4+
HCN

HSO3-
